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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark your answer sheet.

76-

77-

79-

80-

81-

82-

83-

84-

85-

86-

87-

I have to talk to the manager, ............ he has free time to see me or not.

1) as 2) while 3) since 4) whether

Most of the final English exam questions were too difficult for most of the students
in the class ..........

1) answered 2) to answer 3) for answering 4) that they answer

A: “Can I help you?”

B: “Yes, I'm looking for a ............ dress for my daughter.”

1) small, pink, cotton 2) small, cotton, pink

3) pink, small, cotton 4) cotton, small, pink

Hurry up! This information should ............ to Mary and her family as soon as
possible.

1) be sent 2) be sending 3) have sent 4) being sent

Wet weatheris a ............. of life in many countries of the world like Scotland.

1) period 2) manner 3) feature 4) sample

Ali and Mahdi run a large company together and are very good business ..............
1) winners 2) laborers 3) partners 4) apprentices

A:“Did you c.vvvennennnns anything unusual in his behavior?”

B: “Yes, and I think he needs to go to a psychologisi.”

1) inform 2) perform 3) evaluate 4) observe

I would like to know how Helen manages to keep .............. before examinations.

1) firm 2) calm 3) similar 4) natural

I haven’t been to China .............., but ! have read a lot of books about its culture
and people.

1) entirely 2) personally 3) immediately 4) internationally

If you go to any doctor, they will ........... the importance of good nutrition for your
health,

1) organize 2) protect 3) emphasize 4) encourage
I am sure this is an event that will ............. in your mind for quite a long time.
1) stick 2) survive 3) bother 4) suffer

Mr. Karimi has always been dreaming of traveling to ........... lands, particularly
the ones in South America.
1) global 2) complex 3) flexible 4) distant

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and

decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer
sheet.

Many people believe that the Spanish painter Pablo Picasso (1881-1973) was
(B8] e creative and influential artist of the 20th century. From a very young age,
Picasso was (89) ........... skillful at drawing and painting. His restless personality led
him to paint in many different styles. One style was his “blue period” of painting, when
he (90) ........... on blue as the main color for his pictures. In 1907, Picasso painted a
picture called Les Demoiselles D Avignon, (91) ..... e shocked many people — it was a
painting of human figures represented by angular and distorted (92) .......... . This led to
a style of painting called cubism.
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88-
89-
90-
91-
92-

1) most 2) the most 3) more than 4) more of a

1) commonly 2) previously 3) extremely 4) regularly

1) connected 2) constructed 3) compared 4) concentrated
1) it 2) who 3) this 4) which

1) shapes 2) phases 3) issues 4) terms

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed

by four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark your answer sheet,

93-

94-

926

Passage 1:

More than two hundred million times a day, a camera shutter clicks somewhere in the
world to take a photograph. There are family snapshots capturing happy memories,
dramatic news pictures, pictures of the planet beamed back from satellites in space, and
much more. The uses of photography are numerous, and new applications are being
found all the time. The first photographs were made by coating sheets of polished metal
with light-sensitive chemicals, but the images appeared in dull, silvery gray and could
only be seen from certain angles. During the 19th century, new processes were invented
for spreading the chemicals on to a glass plate or on to a film of cellulose (a kind of
plastic). Eventually, photographs could be made in either black-and-white or full color.
Film is still in use today, although it is quickly being replaced by digital photography.
Digital cameras use a light-sensitive chip, instead of film, and store pictures as digital
image files that can be transferred to a computer. There, they can be altered before being
printed or sent anywhere in the world via the Internet.

Which of the following would be the best {itle for the passage?

1) Uses of Photography 2) History of Photography

3) Photography in Today’s World 4) Photography in the 19th Century

Which of the following is NOT mentioned as one of the daily reasons for taking
pictures?

1) News stories 2) Space exploration

3) Happy family gatherings 4) Advertising purposes

Which of the following is TRUE about early photographs?

1) They were made with the use of some chemicals.

2) They were visible from every perspective.

3) They were made from a film of cellulose.

4) They were clear, vet gray in color.

What does the word “store” in line 11 mean?

1) Join 2) Show 3) Save 4) Provide
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97-

98-

99-

100-

Passage 2:

Leonardo da Vinci was born in 1452 in the area of Florence, Italy. He did many things.
He was a scientist, inventor, musician, mathematician, and architect. He knew about
animals and plants, too. He could do many things well. Leonardo was famous for his
painting. He painted the Mona Lisa and The Last Supper. They are his most famous
paintings, and many people know about them. He started working on The Last Supper in
1495 in Milan and finished it in 1498. He started working on the Mona Lisa in 1503 in
Italy and finished it a short time before he died. It is now in France. Leonardo’s paintings
were very good. He understood how human bodies worked. Besides, he knew how happy
or sad people looked because he knew how emotion looked on people’s faces. Since he
understood nature, light, and shadow, his paintings looked real. Leonardo had many ideas
for inventions. He drew plans for a helicopter as well as a tank. He even had an idea for a
calculator. He had an idea for making solar power, which is power that comes from the
sun. Leonardo lived at the same time as Michelangelo and Raphael. He was 27 vears
older than Michelangelo and 31 years older than Raphael. Leonardo died in 1519.

According to the passage, which of the following was Leonardo NOT good at?

1) Art 2) Biology 3) Chemistry 4) Psychology
What does the word “them” in line 5 refer to?

1) Many people 2) Animals and plants

3) All Leonardo’s paintings 4) Mona Lisa and The Last Supper

Which of the following can be concluded from the passage?

1) Mona Lisa took a longer time to finish than The Last Supper.

2) Leonardo painted Mona Lisa when he was still young.

3) Leonardo finished Mona Lisa in a short time.

4) Leonardo painted Mona Lisa in France.

Which of the following do we understand about Leonardo?

1) He never thought of inventing something that could be used during war time.
2) He was interested in finding ways of obtaining energy from the sun.

3) He was aware of all natural elements when he made an invention.

4) He died when the famous artist Michelangelo was only 27.





